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Fe,0, ( 1/3  +2
2/3  +3 )
o FeO < Fe, O,
FeO  Fe,O, Fe, O,
o Fe, O,
N Fe,0,
1.
3Fe +20,—Fe,0,
2. :
3Fe +4H,0( g ==Fe,0, +4H,
3. FeO 0, :
6Fe0 + 0,—=2Fe,0,
4. Fe,0, (0(0)
3Fe, 0, + CO =—=2Fe,0, + CO,
5.Fe,0, Fe :
Fe +4Fe,0,—=3Fe,0,
6. Fe, 0,
6Fe,0,—4Fe,0, +0, 1
“Fe, O,
1. CO
Fe,0, +4CO =—=3Fe +4CO,
2. Al '
3Fe,0, + 8Al =—=9Fe +4Al,0,
3. (500°C ~1400°C) 0,
4Fe,0, + 0,——6Fe¢,0,
4. ( Fe,0, FeO

Fe,0, 1:1 )
Fe,0, + HCl ——FeO * Fe,0, + HCI

FeO +2HCl ==FeCl, + H,0
Fe,0, + 6HCl ==2FeCl, +3H,0
O +@

e D] »

—Fe, 0,

250400

Fe,0, + 8HCl ==FeCl, +2FeCl, +4H,0

Fe,0, + SH*=—=Fe’* +2Fe’* +4H,0
5. :
Fe,O, + HNO,( )—
FeO * Fe,0, + HNO,( )
3Fe0 + 10HNO,—
3Fe( NO,) , +NO T +5H,0 @
Fe,0, + 6HNO,=—=2Fe( NO,) , +3H,0 @
O +@ x3
3Fe,0, +28HNO,( )=—
9Fe( NO,) , + NO 1 +14 H,0

3Fe,0, +28H" + NO; ==
9Fe’* +NO T +14H,0
6. :
Fe,0, + IOHNO,( )=—
3Fe( NO,), +NO, T +5H,0

Fe,0, + IOH" + NO, =—
3Fe’” +NO, T +5H,0

A.

Al Al
B.

Na Na
C.
D.
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54.5% /12 g/mol =4 mol n( H) =1 mol x 88 g/mol
x9.1% /1 g/mol =8 mol n( O) =1 mol x 88 g/mol
x36.4% /16 g/mol =2 mol.

C,H0,.
2.
3
1.34 g/L 1.5¢g
0.9¢ 2.2 ¢
M=1.34 g/L.x22.4 L/mol =
30 g/mol H,0

Co, n(H,0) =
0.05 mol n( CO,) =0.05 mol ;

=24 g/mol n( C) : n( 0) =%:%=1:2 c%H301+(x+%-%)02—>xc02+%’H20
CH CH 30 x 30yl
14 ,_228/14:2 . 1.5°0.05 1. :oyos v=ly=2
C,H,. 30 z=1
2 C.H.0 CH,0.
54.5%:9. 1% : 36. 4% 4 10 mL
3.94 g/L . 80 mL 90 mL
M=3.94 g/L. x22.4 L/mol =88 g/mol
:n(C) =1 mol x88 g/mol x 55.56% °
> 2 B. 1 mol Cu N,
NO (). 80,
A. FeO B. Fe,0, C. 22.4 LN, H,
C. FeSO, D. Fe,0, N,
3N, D. 3 mol Fe Fe,0, 8N,
( ) o
A.23g Na H,0 N, :1.AC 2.A 3.D
H
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